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Red is smoothed by 3-point MA
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C:\Users\Harman\Documents\Data\CE. . .\convolveDs¢ F 164.m age 1

Xn= si1n(0.07*pi*{(v:50))+0.1*randn (1, length(xn)) ;
hn=ones(11,1) /11

yn=conv (hn, xn) ;

figure (1)

plot (xn) ,grid

hold

plot

titl )
lege:

hold
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clc, clt;
clear;

3 01
£=100;
£s=5000;
t=0:1/£fs:.03
X=sin(2*pi*f*t);
r=sqgrt (v) *randn (1, length(t) ) ;
Xw=X+r;

n=3:length (Xw) ,
y{(n)=sum(Xw{n-2:n))/3;

h=(1/3)*[1 1 1]

rigure (1)
plot (y);
hold;

plot (y1)

hold;

plot (X

title( )
legend













